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1960 4.8% 342% 22% 78% 23% 6.8% 22% 35% 36% 15% 4.3% 11% 16% 0.1% 4.4%
1970 3.7% 343% 20% 80% 21% 6.2% 28% 39% 41% 12% 3.6% 13% 16% -0.8% 2.9%
1980 3.1% 351% 22% 78% 25% 7.2% 32% 34% 38% 16% 4.5% 10% 14% 0.1% 4.5%
1990 3.3% 407% 24% 76% 26% 6.3% 34% 38% 40% 16% 3.8% 4% 9% 1.4% 5.2%
2000 3.2% 500% 25% 75% 25% 5.0% 36% 46% 47% 13% 2.6% 2% 6% 3.0% 5.7%
2010 2.1% 514% 28% 73% 27% 5.3% 32% 40% 42% 16% 3.0% 7% 13% -0.5% 2.5%

Table AU.3c: Summary macro variables, 1960-2010 (decennial averages)
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Note: 1960 refers to the decennial average 1960-1969,..., 2000 to 2000-2009, and 2010 to 2010-2011
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